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01 At22t2l] 55,200 63,200 28,000
OSUMol 822 L MHwe M=
2,500,000 42 10,000
OMOEDAIRS 2
150,000 43 600
OdHE A9 2I=H|
600,000 » 12042 7,200
Octd el At 20|
1,700,000& x 1290 & 20,400
OLHHtNMEHY R u=x
2,000,000 *43] 8,000
OSUMoHMEYE ASAe WS
1,500,000 23] 3,000
o221 Hgetd=dy
3,000,000 22 6,000
2 s5=g4l 26,000 22,000 4,000
OSUMHol Bia=ed SHI=ll
26,000,000& * 1= 26,000
401 Al HIZ S 0HbI 2,000 10,000 /8,000
01 A28l 2,000 10,000 28,000
OStdAIY €X & 2=
2,000,000& %12 2,000
Mo & THtolg(Lets3dE /Lot y) 2,307,969 2,499,754 N191,785
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SA: MBI AT
[ THoH X T OIZH (LB ST/ ABIAT)
el SE2MAE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEZHUE 2% 2,307,969 2,499,754 191,785
SE2HIHE (KHH) 2,307,969 2,499,754 A191,785
101 12| 876,769 1,150,954 274,185
M IRIM22XS2+ 876,769 1,150,954 274,185
OSEZHHE 2HTLRS 22| 842,065
L= 22,146, 2402120 442,925
—&g 12,356, 96021 x20 247,140
—AB2EE 3.,600,0002 *20% 72,000
— 4013 500,000 *23|x20H 20,000
—gx3 3.,000,0002 *20% 60,000
OSEZHHE HArze| Q24| 34,704
=] 22,146, 24024%1% 22,147
—ag 5,456,320 *1% 5,457
—AelEEE 3,600,000+ 1 3,600
—&t0i3 500,0002 *23] 1% 1,000
—gxZ 2,500,002 *1% 2,500
201 Yer2% | 966,200 571,800 394,400
01 A2l 20,600 19,400 1,200
ORIl 22 200,000 * 1204 2 2,400
OFIIAIL QHERA2|R} OHEH A
200,000 * 1204 2 2,400
OSE2MME 280| YRZ
300,0002 * 1204 & 3,600
OSEZHHE 22 SS(3EX Q2 105)7
e 300,0002 * 1204 2 3,600
OSSZHHE IERB(Z$I| S) 22
300,0002 * 1204 & 3,600
OSEZHMME Al XS4
5,000,000 5,000
02 SZ2g| 945,600 562,400 393,200
OSEZHME SR Y=
100,000 * 12042 1,200
OSE2HHE 223 Y=
100,000 * 1204 2 1,200
OSEZHHE I3 U=
3,500,000 * 1204 & 42,000
OceV ®J1ea »=
10,0002 %4500 2+ 1204 & 54,000
OCCV HE3ld SMRS &%
100, 00024 #4500 2% 120H 2 540,000
OSYEAE WM SN2 U8
1,000,00024 %13 &% 1201 & 12,000
OCCTVES2HIME SN2 295,200
—SETHAIAL 189,000,000 189,000
—CCTV 86,200,000 86,200
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SA: NS
S ol & Mo (L S3Y/LLAT)
el SE2MAE =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SYEAS 20,000,000 20,000
207 A0 69,000 231,000 /162,000
02 MAHHZHI 69,000 231,000 /162,000
OSBBRME AIAE S/ 2! 69,000
—HATT R 2rolalA
70,0003 x200% 14,000
—2tHl etold A 200,000 #2002 40,000
— A Al 300, 000& 50 15,000
401 AlZHIZ S 0HbI 366,000 465,000 109,000
01 A28l 366,000 465,000 109,000
OgdE IV &7 &X 277,000
—daey 7,000,000 *36H 2 252,000
— XS el 25,000,000 %11 2 25,000
Ok= g#HE TV uHM &X 79,000
—d=ey 4,000,000 * 1091 £ 40,000
— XSS A 13,000, 0002 *3CH 39,000
405 KHaHE SH 40,000 81,000 241,000
01 Tt ESF=HI 40,000 81,000 241,000
OGUNEER(AERIN) S&
40,000,000 »1CH 40,000
HM2ALH(SH USRI (DIEHDIE 151,125 135,670 15,455
el 2| 66,531 63,658 2,873
el E2d| 66,531 63,658 2,873
101 ©1AH| 66,531 63,658 2,873
01 2= 66,531 63,658 2,873
Ot MEX|J 1t Al =F 66,531
—6= 12,8442 x5 *30A| 2+ 1201 2 23,120
—7= 11,6022 62 *30A| 2+ 1200 25,061
—8= 10,4162 38 *30A[ 2+ 1200 2 11,250
—9= 9,860 x2& *30Al 2t 1200 2 7,100
J1I=2d8l 84,594 72,012 12,582
Jl23HI(HM S X2 1t) 65,970 26,340 39,630
201 Ler23 | 31,680 24,240 7,440
01 At22t2lt] 31,680 24,240 7,440
O MR HRFH ARSE 7Y
10,0002 *302 * 1270 2 +80% 2,880
Ot daXF L HREFH SASS 78
25,0002 *30Z+0.69 Ax12J0 2 +80% 4,320
OtddaX L HRFA =87 gz
500,000 *2CH* 1270 2 +80% 9,600
OtddaX ) el S 5,760
— S 200,000 *2CH*120H 2 «80% 3,840
—Zd 300, 0002 *2CH *47H Z +80% 1,920
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